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: INSTRUCTIONS :

Total Questions ary 15

All questions in the Test are multiple choice questions.

Each question cardes cne mark, with four aiternatives ouf of which one answer is correct,

There is no negative marking,

Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appmpriate space against the number coiresponding to the question while answering
an the OMR Responsc Sheet

7. Marking more ther one response shall be treated as wrong response.

{ Mark your response by completely darkening the relevant oval. The Mark should be dark and the ova should be

e S

completely filied.
9. Use of calculator, Mobile or any other electronic device is sirictly prohibited and usc of these shall lead to
i disqualification,
| 10, The candidate MUST remove the last Carbon copy (Candidate’s Copy) of OMR after completion of Test.
¥ 11. The guestion papcr will be both inEnglish & Punjabi. In case of any doubt, English version will be taken as final.
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’ 1. Which of the following statements is not true for organic manure?/ 95 f&s auat o faoar e

| € wEl AIt a4t &7

IL (A} It enhances water holding capacity of (B)ithas a balance of all plant nutrients/ 37 &3 Ufomr

| Toget 3

| (C) It provides humus to soil/ 0 it & | (D) it improves texture of soilf fr ifet & 5533 5

R s Faet 3 B 3 |
2 Read the statements given below:

A, Seeds require moisture for germination./ S § §a9rE = st € 83 I &

B. Plants can absorb nutrients mostly in dissolved form./ U2 Unfeg 33 & fomrersg wd Je
gy 1%y AvE a9 7 95|

C. Trrigation protects crops from both frost and hot air currents./ fHoTs @Rgt ?__5 &g w3 agH
TE S argret J worger 3 |

D. Irrigation improves soil texture./ TS &8 fitel & se39 &g U e I

Chouse combination of staternents which indicate need to irrigate crops./ FEE € AAS o) 9%

59 ° gAs & Hod & 89 § wongR ol

(AJA and B (B)A,Band C

N

{COOA,B,CandD (D) Aand C

The process of loosening and turning of soil is cailed /fHE & o Fa5 W3 yarez & yfafanr §

{A) irrigation snd m“anuring/ Hoeh W3 w2 u@s | (8) digging and winnowing /HEE W3 g2

(C) tilling and plonghing , 335" W IF arger . (D) harvesting and storage /T 2 FIIE

e ——

a

= ki :
Z T . " : e z e o 1 - pyt E |
In the absence of which of the foilowing, will phetosynthesis not occur in leaves? BasT &9 fam ©F -

wEE 9, W & yerw dadas odf 3o

(A) Guard cells/ T'I38 75 (B} Chicrophyll /aBJfas
(C) Vacuole /29Tw {C) Space between celly B® fegarg gy

| (iv) Oxygen is liberated during photosynthesis /&I HABHE @376 WeiiTs Haz 3 mt 3

Which of rhg}gllowing statements is/are correct? /I o= E{H'E‘S"rﬁf—"t? gz /A E};

(1) All green plants can prepare their own food /A9 I3 U wiys 3ma He Bwg 9 A 98|
(ii) Most animals are autotrophs./fiE'3d HBRd Wede Je Is| |
(ii1) Carbon dioxide is not required for photosyuthesis./{eH HHSHE 38 Igus oWaAHE o 87 |
&t Ji

Choose the correct answer from the options below./ 957 3 fegsy &8 7t 7o s g8l

{A) () and (iv) (B} (i1) only |

(C) (5i) and (iiD) , (D) () and (i) i




Anushka wanted to buy a gift made of animal fibre obtained without killing the animal. Which of

ey 3 gienr o ydles odet H frgst (& fagx adt 39z 92ar

|

the following would be the right gift /waHer AL € Jfaw &3 faa’ Aa=a’ 3 yus a3 %
' i

|

|

{A) Woolen shawl /@8 & {B) Silk scarf /JHH AAI=

(C) Animal fur cap/ 7ol &g 2t (D) Leather jacket/ B3 T A5

yras 4 dt B3 gast & faggy/mdt 39

(i) Plants are obtained from seeds./ U2 i@t 3 yu3 &3 A I&|

(ii) Two plants are always essential. /2 U€ IAF 93 I I

(iii) Fertilisation can occur only after pollination. ,UJSTE 3 B@mie It ve der J Aag! J1
(iv) Only insects are agents of pollination. /32 &2 It UTRIF F9& © IIe TS|
Choose from the options given below./ So* &3 fegmut & T2

(A) (i) and (iii) (B) (i) only

(C) (i) and {iii} (D} (i)and({iv)

Arnav visited a forest near his town with his classmates and his teacher. As they were entering
the forest, their class teacher told them not to make noise in the forest as naise could
disturb/™3a® & Wy AfguSht w3 W wiimmus &5 g Afgg @ 53 g Hom o S
3T 7Y G HaE fEw B 3 99 HE, G € IgTA withud & 857 § fagr ¥ G Has R
Jor & uGs G A9 udEs g9 A I

(A) birds /g & ) | (B) animals /Ara=ar B

(C) both birds and animals /g w2 Fraws’ 2 & | (D) plants /dfent &

Which of the foflowing is not the name of a tree?/ I& &3 &8 fagzr 9y © &1 & 2

(A) Teak /&t | (B) Sal /A%

(C) Porcupine/ JIardiss | (D) Kachnar / /58573

10.

Seas and oceans are full of water on earth. However, a very smal! percentage of water present
on earth is available for us. This percentage is roughly/ 733t €3 miTa w2 Ao Us 58 39

IT I8| TEHy, aaﬁ‘?#gewé?awﬂeqémww@mqélﬁammé}

e

{A)0.006% | (B) 0.06%

() 0.6% (D) 6%

11.

i.aae*fa'c::E}a@ﬁfma‘3145?6%”%%%&?@?@%@@6@8@@?%?&%

A man digging the ground near a water body found that the soil was moist. As he kept digging
deeper and deeper he reached a level where ali the spaces between particles of soil and gaps
between rocks were filled with water. The upper limit of this layer is called/fBa femat & fiflg

F5-AIE T A8 wWils T yed S9e IT 2hew ¥ HIA i A -2 G 3 3 b vt

AL TE Ul 5% 97 I fam usy & Quadl whr & e e

(A) water level /st & Ugg (B) water table/ $t FS-H3I
: (C) groundwater /OJ3T J5T Ust {D) water limit. /urst < Ahr ‘
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The amount of water recommended by the United Nations for drinking, washing, cooking and 5

32
maintaining proper hygiene per person per day is a minimum of /Y3t fewast Y=t s urE, e,
| e yrgE w3 S e He S B Huas Ires eordr R St ol o we-ue
F WIT I
' (A) 5 litres (B) 15 fitres
(C) 30 litres {D) 50 litres
i3 Water poiluted by various human activities causes a number of water borne diseases. Which of
the following is not & water borne disease?/ S4-24 Wt aidtfed 78 g H3 yret a3
it frdig & arge geer 31 o et RS ot s &8 JE @ fprdt ot 97
(A) Cholera/ I (B) Typhoid /&Eiedld
{C) Asthma /=W (D) Dysentry /U895 T
24 | Which of the following is a part of inorganic impurities of the sewage? /fSHaE93 & fagar
Hredn St wargwfsa witw T g i 32
(A) Pesticides /StESHI | (B) Urea/ M
{C) Phosphates /@HGTH (D) Vegetahie waste/ HeERmT afde-doe
15. | Which of the following is not a source of waste water?/ &7 &3 &3 faaz o wgt & ™3
S0 37
(A) Sewers /AIEY {B) Homes/ Wg
{C) Industries/ STwar (D) Hospitals /TAUZTS
16. A beggar wrapped himself with a few layers of newspape'r on a cold winter night. This helped
him to keep himself warm because /e 3t & Bx &3 g3 § wwwrg € g% UI3' 8
vy s faorl ol 3 @F § i@ oy & v o e wee it GER B
(A} friction between the layers of (B) air trapped between the layers of newspaper is a
newspaper produces heat /wWHEJ ©M | bad conductor of heat. /WHE'T T LI3™ © feoarg
yg3t feodl o7 It der st 3 o 3% TE A T W Hosd 3 |
(C) newspaper is a conductor of heat. (D) newspaper is at a higher temperature than the
| /e It T Ausd I temperature of the surrounding./ PHET MB-2HS
2 3 & €8 Iurs 3 g I
17 ! Raghav and Vrinda measured their body temperature. Vrinda found her’s to be 98.6 °F and

Raghav recorded 37°C. Which of the following statement is true? /IwE w3 efder & wue HItg
IS W] EfFEr & wUE IUHG 98.6 °F W3 IR & 37°C T9 |37l 3 B3 FEE
&3 oz Ao &7

{A) Vrinda has a higher body {B) Vrinda has a lower body temperature than

temperature than Raghav /2fde" € | Raghav/ 2fder @ AEIS & 3UHs IR & ue 3
Adtg v 3urs Tuwr 58 89 3

{C) Both have normal body temperature | (D) Both are suffering from fever /o2 §9'g ERYEc

/BT 2 ASS O IUNS BUEs I

|
|
|
i

4 LN
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18. f Iron pillar near the Qutub Minar in Delhi is famous for the following facts. Which of these facts is i
| responsible for its long stability?/ iS5t &g gasiters @ 33 33 & &y I fs I B8 HAgS

f | ;ézféa#ﬁé‘ﬁwa’afm@ééfﬂfaa?mma}? j
r' f (A) It is more than 7 metres high/ f&g 7 Il[ (B) 1t weighs about 6000 kg. /fo71 & I9 I 1
l e 2 du g 3 | 6000 fBApH 3 J
T ‘ ' !

: ; (C) It was built more than 1600 years ago. ; (D) !t has not rusted after such a long period. /&% |
! ‘ 3 , . . |
; !/%ajﬁoowuﬁdwwﬁgwfawm [mm§wﬁ@§ﬁwﬁml |

19. gAn EVS teacher of class V shows a video of different types of animals like reptiles, andf

| | amphibians and discuss about them. The most appropriate objective of the activity is to draw 1 )

| | attention of students to /IR TS & B A& W Wi Sy o @ Feegt i fa j

! Eﬁu‘r,v@m—-aﬁﬁ?aéﬁ@fw@?én@%*a@ma@@é:ﬁfenmﬁhr@ﬁnmj

j o 58 afifedt & ot o Aw 3 gad !

(A) show food items /4T s S ; (B) observe variation in animals and their living g
L TaegT ‘@Qgs*éafé&nfé&ﬁaﬁay{f%ﬁ |

g feurg
(C) Names the animals/ Traear & &t i (D) importance of animals /HGEIT T HI3®

@! jabout rainwater harvesting. The purpose of such a trip is to: /WWM’M@M!
| fﬁvma@mm@a@m@?wﬁmwmélfeﬁ:'waa%rfisﬁ‘sfféﬁ
;%@MWéﬁam‘aewg}amﬁmam@mg%ewaﬁma@aﬁg

fW@E&MWEB@W@W%iW@WB’H’@@@H@: |

¥

i ; ; <
| i Make students understand how the human mind can solve problems that are not solved |
|

byzhenamre/'f%ﬁwaé\w‘rgsw@ﬁn@ﬂ%@aﬁfﬂﬁwgsﬁéa‘ﬂ
I AT I N FeII T I8 w5t I ot g |

Such activities not only help the learners enjoy the time outside the class but aiso _i

|

i

5 allow them 1o learn the importance of water conservation /MfAIMT gIStfedng &r |
| ﬁaaﬁ#&m@a%ﬁ?}am?waamﬁﬁa?@sﬁ%mmaﬁ,ﬂﬁ?
{

b

!

GI5 § wel & Hew & wdiIT § e Y @ ee sgdnt o
> belps students in learning how to write case study /87 wfimls fags fifys ﬁ"a’:
(A 1,2and3 [{B)1and2 ]
| (C)2and 3 | (D} 1and 3 |

T
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Which among the following considerations would an EVS teacher keep in mind while designing I
I

| & group activity in the his class /8 ST wiftrug wWust auH 59 fés FHIY A3t

? 1 Engage the interests of the children /Sfow @ fifgr & THS FI& ;
Appeal equally to boys and girls /BT W3 BIS § gI8g © "UlE SunT
Use expensive material/ HiJsTt marst @ =oF sgar |
Appeal to children of ail religious and cultural backgrounds/ A3 TrafHa w3 |
AT ges o8 o § wilts sge |

2

R Y]

{A)1,2and 4 (B)1,3and 4 E |
(C)2 and 4 (D) 2 and 3 ’

NCF 2005 has not recommended any prescribed curriculum and text- books for EVS for c‘#"a-é;g_ll_w-j
and ll. The most appropriate reason for this/ NCF 2005 & S@™H I3 1 B evs a4 s |

mmﬂmﬁw-wéﬁmaﬁﬁm@ﬁwﬂyﬁﬁ@mé |

| (A) EVS is only for class 11l Onwards (B) Learners in class | and Il cannot read and f

/82 frgg 3 S 3 s B8 S | write T | w3 g @ fefenrast ug-fisy o<t ware 5!

(C) To Provide contextual environment (D) To reduce the load of curriculum /TSTH T 3T |

/YRR T 3egE yore sus st werQs B

5 =9 wug agerst fifimr By s o

|

----------- is the first school where children start their initial leaming-------—— Ufgs 7gs |
J

|

|

(A) Family/ ufgerg (B) Primary school/ yferdt Ags

(C) Play school /& Ham (D) Society/ = |

Match the following 35 53 &5 iz 33
List I List II |
A Formative Online Assessment Tool I Weekly Self Test Quizzes |

B " Summative Online Assessment Tool I Individual Laboratory Report

Cc Formative Offline Assessment Tool I Self Assessment Module |
| D Summative Offline Assessment Tool [V Weekly Quiz |!
[ | U Wiesrds voteE en Je3=dt afe !
rh (A) A- I, B- 11, C- IIL, D- IV (B)A- I, B- IV, C- L D- 1I

(C)A-T1V,B-1II, C- Ii, D- I (D) A- 1L, B- L, C- IV, D- 111




TR

25. | Assertior: (A) : At memory level, teaching is nothing but leammg the subject matter by rote
Reason (R): As against reflective level, the memory level is highly thoughtful ‘
Choose the correct from the following/a= (A): Wreez 2 Ugy '3, wihnes g9 & &t 9
ug feR § I & e der 3 39 (R): yIfle Yug @ fedu, oreemds e Uog 8IS firer
fegrariis Jer 3
Jot 783 Y At & 9% a3 _ .
(A) Both (A) and (R) are true ©= (A) ni@ | (B) Both (A) and {R) are false/ 2 (A) W3 (R) 3153
(R) B TS ola I8 _
(C) (A) is true, but (R) is false./ (A) a‘}a I | (D) (A) is false, but {R) is true./ (A) B2 T »3 (R)
"3 (R) T&3 BT T
26. | The teacher with 50 students class, wants them to participate in an activity which involves
maximum number of seases to enable to enhance learning, for the purpose he have to follow the
suitable activity of/50/ fefemrgsiv & I @9 witmme, gder I f g fifa windt ardftfeddt
&g [ Bz fan e s fiedht & witiaa Bt T 32, 37 3 fitus feo @ 32, fom
gSH 38 @r & e Iifedt faast Jam
(A) Organizing field visit to some _ (B) Using relevant smart class teaching-learning
popular places /% g reat 3t materials/ HEfds Age SR witmrus-fugre
A3d B T s I | et & woF sge
' (C) Encouraging debate and discussion (D) Inviting resource persons from community to
among groups /AHI" &9 gfar w3 demonstrate their skills /FAHH fE98 foRaR UarRs
ggT § €33 39 WUE g5 T YSIRS 996 SU geTge
27. | Which of the following can be more helpful in leamning about the “Mountains and Agriculture”
through ICT?/ ICT oy U w2 g '3 e R o fef RS fagw 203 roks
J mae &7
(A) Projector /qRee (B) Slides /A& dizt
(C) Video /3G ' (D) Recorder /foargsd
2&. | Which of the following are the major socialization agencies /s’ R fagg Yoy AHHIETS
L Community /S&oor
II.  Family /ufseg
III.  Same groap /AHS MHI
{v.  Formal Educational Institutions /Im fefenws drgst
{(A) 11, Ill and IV (B) L, 11, 1Y and IV
" 1 (C) I and III ) (D) I, B and III
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29.

A teacher intends to conduct remedial classes for some students who are not responding
‘satistactorily. Which type of evaluation she/he would undertake for choosing students for her/his

remedialclasses?fﬁahlﬁwwgsmw@mamw&wméaHéﬁ
| IHSEEH Ay adF @ 99 gs) 89 QuUEIY suH B fefenrgdnr & 9t ags a8 9 fun
Eﬁﬂnw?_@a&m?

j (A) Summative evaluation /#9y ygigE | (B) Diagnostic evaluation /I feaisrfed yotas

| (C) Assessment of portfolios /U9EQBE | (D) Competency based evaluation /SIdI3" Worfas
€ Ho'gE HBIE

—

30.

Special attention given to students with or without special needs is called___ /AR B3 TS
T foo’ R B B fefewrgdw g R3 e R el fimis & fgr A 3

(A) Integrated education /23 fAfemi | (B) General education /W fHfmT

(C) Remedial education /@Uersa fiffimrr | (D) Special education/ feAH Ffmr

represents the pattern of biological, cognitive, and socio-emotional processes i
that begins at conception and continues through the life span. ________ Ate-fefomrs, SusHa
nr%mm-armqfa&wﬁ%ﬁeaw;ﬁﬂm@?%ﬁmm?ggéwam?mm
39 At gfder I

(A) Development/ feam (B) Growth/ =mar

(C) Maturation/ ufgurasr (D) Cognition/ 5q

32

Piagetian concept of the incorporation of new information into existing knowledge is called

/ Hige famis g 5 Araardt § me wes @ urdtidns gras 6 _ ferar

e 31

(A) Assimilation/ mHEtaas (B) Accommodation/ fsafer

(C) Organization/ Faoa | (D) Equilibration/ H3®a

Who among the following presented a social constructivist approach to learning? d&* fefanr
fe5" fom 3 Huz wet A geeHe udy OF St

(A) Ausubel/ WIHES | (B) Gagne/ 913

(C) Jean Piaget & ursiire (D) Lev Vygotsky &% fegierat

People value trust, caring and loyalty to others as a basis for moral judgment, represents which
of the following stage of Kohlberg's theory of moral development?/ 35 33 f5a3 & niog €3
ehrmit y=t fewemn, ugs w3 Tererdt  awd q9 ds, osHIa @ Ma feaw @ fhuis @ Ja8

uzmi 139" fam & wam@er I 7

(A) Stage 2 Individualism, Purpose, an.. (B) Stage 3 Mutual interpersonal expectations,

exchange/ uamy 2 fenadtere, @21 m3 | relationships, and interpersonal conformity/ usms 3
gztagr nigHt uaAug SHiTt, fars w3 nise-fonshos

(C) Stage 4 social system morality/ U™ | (D) Stage 1 Heteronomous Morality/ uamf 1| fefgs
4 PHfaa yFEt fgasr

38

In triarchic theory of intelligence as given by Sternberg, which of the following is not included?

AZIsEgd e ot a2 gt @ faast fitais feg, Jo fefir f45° fags AH® &9t S 2

(A) Spatial/ Aafss (B) Analytical/ fer@rasMasT

(C) Creative/ J953H (D) Practical/ fegraa

36.

Which of the following represents the acquisition of a traditional masculine or feminine role?/

%Wﬁmﬁamm#%ﬂﬁgﬁwﬁqwzﬁmn@@%?

(A) Gender roles/ #'39 gfhat (B) Gender typing/ W39 Zeifiar

| (C) Gender integration/ 59 Staas | (D) Gender stereotyping/ 139 Aetdtgeretfifar




4

{37 In Pavlov’s experiments, Paviov gave food to the dog only after ringing the bell, not after any
other sound, represents which of the following concepts?/ u=ée € yoar e, s 2 d3 3
A eweE 3 gmie & 895 fET, = fy f5iy 39 niem 3 sre, 96 fefrt f&5° faodinr aoraet
3 TgAge 9 2
(A} Generalization/ AOg&IETES ' {B) Discrimination/ f&3a@
| (C) Extinction/ ni®y & (D) Sensitization/ ARTSHIGST
38. | The concept of child-centred education is advocated by/ TS fg3 Difamn © Aoy € T3
: CIEICHE »
5 | {A) John Dewey/ #& 32 BT (B) Pestalozzi/ Umeds! gATd
' (C) Herbart/ Jggde gnia | (D) Froebel/ 3388 ¥HT"
39, | Which of the following is not the characteristic of emotional intelligence given by Peter

Salvovey?/ 9& fasfimnt &8 faast ies %@mﬁﬁwwgﬁé‘rmaﬁ% ?

(A) Perceiving emotions/F=aat & AHEET | (B) Managing emotions/ & 27 ygus Fd6T

(C) Using emotions/ gearet =t €93 @&’ | (D) Controliing emotions/ @& & A JIST

40.

The concept of continuous and comprehensive evaluation is introduced in the year J

fad=g w3 feninig woiaE © Tas B o Un &gt et 3
(A) 2010 (B) 2005
! (C) 2009 ' (D) 2004
41 The conflict theory is given by/ P froiz fsr famr 3 |
| {A) Emile Durkheim/ e saurety gwrar | (B) Karl Marx/ 98 HISH £ATdT ;
(C) Robert Stolle/ 992 HE® T (D) Max weber/ AeH 299 gnfar
r 42, Which of the following classroom environment places no demands on the students of any sort |
‘ and students are actively supported in their efforts to seek their own ends using any reasonable |
§ means?/‘ﬁBWﬁ*@‘Wm’m%ﬁﬁfm{@WW?ﬁﬂﬁﬂﬁmé
FHTES &a¢ U587
| (A} The authoritative style/ »ifiarazg A& | (B) The Indulgent style/ yRe At B
| (C) The permissive style/ »famrardt 8%t | (D) The democratic style/ Fa3dt Ast |
' 43. | Which of the following represented the four clusters of emotional intelligence given by
Goleman (2001)?/ F&¥a (2001) o 3 a® seemHe gt & 99 Ayt @ Jo fefmrt 97
(A) Self awareness, social awareness, | (B) Self motivation, social awareness, self-
'a self-management and  relationship | management and relationship management/ 7€
management/ FE maigas, AT | 49, Mofie AAESST, AE-yHus W2 FEY YEUS
FAgesT, AR -Y¥us w3 HEY yHus
(C) Seff awareness, social awareness, | (D) Self concept, social awareness, self-concept and
self-concept and relationship | relationship management/ ~FR-Fawd, mafE-
management/ W¥ FOIGEST, AHTHE | TOGAET, AR-HOBU M3 famzT ydus
AR, AL AavU W3 AT YHUs
44. %Vhich assessment technique Is subjective in nature?/fsadt Hwtae Iswia g™ &9 femasters
L a7
] (A) Objective type questions/ SHI GRS Yard © yia | (B) Quiz/ Ffew
, | (C) Rating Scale/ Iféa FAa® " (D) Multiple type questions/ ¥g-ya'd & YRS
: 45. | The best child centred approach of learning is /fifaz & #8 5 20 9% defd3 ude J

" (A) Enquiry based learning Ugfarg »rfas firasmt | (B) Concept formation/ Aoy feae

(C) Project based leanring/ Uriae nrofas fausel | (D) Lecture/ RECE] |
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46.

Reciprocal determinism model of albert bandura consist of following three factors except/
niEgse FET ® ugmg fsaerfew wes T I ol fam a9a § g8 & 6 s9d BTHE U5 ¢

(A) Behaviour/ fesag (B) Person/ feniast

(C) Genetic/ ¥3fea | (D) Envircnment/ TIETE

47.

o _isaclassroom in which students from different cultural backgrounds cooperate by

doing different parts of a project to reach 3 common goal./ e ammgH I fan feo

éﬁ—eﬁfﬂﬁm*ﬂ?aﬁ:meﬁfef@m?ﬁ‘aw 7R 3 Wﬁ@aqﬁﬁaé Sy~ g1l
aax Afotiar a9¢ 5|

{A) Group classroom/ FHT SISHIH (B) Jigsaw Classroom/ e s@HgH

(C) Paired classroom/ Fzmeg SHAIH (D) Pair-share classroom/ Un{T~ENT SSHIH

48.

The Erickson theory of development comes under/ fearm w7 wifgems Ao’z widls m*@?." T

(A} Psychoanalytic theory of child {B) Bahaviourist theory of child deve[opment/
development/ u7% feary v wafefimss frutg | 96 feaw o feggeert fHu's

(C) Cognitive theory of child development/ =75 (D) Constructivist theory of child development/
feam & e fAnts T fearn € geseny fAos

49.

Thurston’s group factor structure of intelligence does not include which of the foliowing
factors?/ Furizs 2 AT 2 Mg arex gewv ¥y It 3 arout R fager A adt 3

(A) Number factor/ Rfunir s3a : (B) Memory/ FHTY

(C) Word fluency/ wae @ Fevaant (D) Abstract thinking/ »HIZ AT

Which of the following is not a part of factor theories of intelligence?/ Jat fe3 28" forg= BT
2 a9y fRaist e fmr &t 39

| (A) Sternberg theory/ Hedasdar fruis (B} Vernon Hierarchical theory/ o658 TTEadaias

frats

(C) Thurston theory/ ggres itz (D) Guilford theory/ fom@es fira's

51,

Stanford Binet scale is a type of ./ AeEeas faiz ra® & fx fam 31

(A) Verbal test/ Hfusr 2R | (B) Non-verbal group test/ 33 #feg AHT eRE

1 (€) Individual verbal test/ feniatars Hfus 2e | (D) Verbal group test/ Af mi'gr_%ﬂt—:

Terman defines intelligence in terms of/ 2aHa gdt § fer yare ufggiiz geer T

(A) Ability to adapt/ @&z € AvgET (B) Ability to-understand/ HHEE € GarsT

(C) Ability to solve problems/ A=t | (D) Ability to think in abstract terms/ Aay mae! &9
3 J% q95 F AHdE" AYE € a3t

53,

| Who gave the concept of Kindergarten school?/ fsgaraes maw ©f was fams 317

(A) John Dewey/ 5 & (B) Pestalozzi/ UReHwH!

(C) Herbart/ I999e | (D) Froebel/ 35%

54.

The correct sequence of categories of !eaming outcomes in affective domain is/ LFS’%"( s Ko

fifers & wftfanr St Gabot or et o

(A} Receiving, Responding, Valuing, | (B) Receiving, Responding, Organizafion, Valuing and
Organization and characterization/ Y™us | characterization/ Yu3 &9%7, A<® TT". A6 G5,
FI&T, deY ¥E, U® &, HIvs W | HE o= vT AT

fenmzT

(C) Receiving, Responding, Valuing, | (D) Receiving, Responding, Organization,
Organization and characterization/ U3 | characterization and Valuing/ Y3 &gaT, #ed Eras
qI6T, AT T, H® 2T, RasSs M3 | AASE, [THEST 3 U

I
|
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55. | ADHD stands for/ ADHD T %38 T :
(A} Attention disorder and hyperactivity | (B) Attention deficiency and hyperactivity disorder/ | ;
deficit/ weHs foawrasg WS | MicHG SERH W'F oreluanadtied fsanase
Tehgnadtfedt sfefive | ]
(C) Attention defict hyperactivity | (D) Attention disorder hypertension deficit/ MZHE
; disorder/  widms  3fefae Az | femrese oy odhuaiadifedt 3fefaz ’
! TEtueadifedt fsmrasy
! 56 are problems in pronouncing sounds correctly./ vt ¥ AT §UW6 96
: few et |
(A) Fluency disorders/ ' fearg | {B) Articulation disorders/ nEZIISHS fearg
(C) Voice disorders/ »em A¥dt feqrg | (D) Language disorders/ " AETY fewd L
57. A teacher is using an alternative computer keyboard to facilitate learning of a child suffering
from cerebral palsy, is an example of which type of technology?/ fevmaf niusiar 3* Uiz 89 €
fituz &t rgss BEt fog miftmius e feamfua dies €t =93 a9 foor 3, feg fam fom 5 |
st o e Beroee 7
(A) instructional technoiogy/ fsgema | (B) Computer assisted technology/ afugza ?TUTFEE’
IETHH ECGECE
| (C) Assistive technology/ Aafex (D) Complex hypermedia/ Sudar grEugHEmy
|58 | Inclusion in education refers to/ fHftmr &5 mydine o aew R 9 ¢

(A) Students with special needs spend all | (B} Students with special needs spend half of their
their time with normal students/ f&27 | time with normal students/ feiny &3t % fefonradt
gt @B “efonrgdl nirusT BTIT BHT o | eruE wiar meE e efonradat 5 fa3@Y O%

fefenradnt % faz @t a5

(C) Students with special needs attend | (D) Integration of special needs students with normal
special schools/ feiE #3F e& fefenrast | students occasionally/ feRm &3t =8 fefeniagni &

Most commonly identified form of inteliectual disability which is genetically transmitted is

J/ faa nadarsr v A 3 ok 393 umfenr wE T gu A fx Adfex 39 3 yafes

dger d_____ |
(A) Genetic syndrome/ R&fes fitsdn | (B) Down syndrome/ 3785 fHsdH f

(C) Birth ditorder syndrome/ AaM fearg fifsaH | (D) Intellect dlsorder/ gat fearg

60.

refers to a broad range of autism disorders including the classical and severe
forms of autism/ wiferH § aHas » digte gut aRs wifemd fearg & fa fems
HE oy féer T

(A) Autism spectrum disorders/ WfemH | (B) Autism-specific disorders/ wifemy-ferm feas

AlgeH fearg

(C) ADH/ 2.5t 7. (D) ADHD/ 2.8t e 5

ot 63 4T § Uga yHs 399 61 T 68 I ¥ § 39 fv6-
W3 F=gt o'y g9 wWE 3P udnm 98T fE Uz 2 Tt fedhot ¥t Ae 1 wEE

TH U 9% 63 € ux &t fan 2B o fivor mifipersr & fegr famr At € 3 |
g3 €3 €5 Aw o X Q0F fusd uh TeIe I gort St TE el e €3 |
e 3 g% goml, g3sh, Dafst 2 955 o, UiS, 77 3 8% udat aot e g5 &
A 38 AB ag%ﬁwﬁ@%mﬁwaﬁ#ﬁm*ﬁwm:q;%ﬁr
FTHM 3 B & m@-o® e ‘St uer feger !
fefenrad: gzmat feg v® I M3t wEAE 8T T8 | wiftnru nig-nmuEet TSt Bt
3t fUs ¥33, s 3 a5 wyeoe frdt &1 fefenrgdint § fast foB-58 gU s9d
5z et gofest € 90 As 1 U9 fefonrgdhnr v faws fiT-52 239 @ 5@ AT A
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51. | Uy feu niienr aue ¥y fengds nigATy- o -
ir_v: j {A) Uz (B) AHT-T99 &< 9
] L {(C) Al - st 9 (D) femmz 5
62 ﬁ‘“’ fem fam nivge 3 uTe-9g @ud faor 97 ] B 5
: A}fﬂ??f'ﬂ"f g (B) frfemr wgzg |
1 (C) ATS ; (D) &
g2 | fem ﬂ@ g wid mee S @ Al wEE 7 B ]
] (A) 393 RICEC —
‘ SEER] | ki
| 54 | T9F ‘Bge ¥ UN 3 & AHSE 97 -
(A Bere {B} A2H T UTHY ]
C loysEsur D) Uathnit oy e N
| &5 52 ool T 19 geean eRE 'Ia'trsf 5‘? - o
) DECCE T Byusat o
(C) arara D) B gaE A j
c6. | Ay fom B 3 wienr fopor HTD - )
 amgEw lpyras e oag L
| | (C ) BEST © T - (D) Qudwrs st adt B !
| &7 Tomw T e 97 1 N
Afms R (B) ¥t = |
oz N - ioiFse ]
[ 58 | U9 o 9@ ANE HR A 05, FOl 98 59 T B
‘ (A)nffomiug () fefunradt —!
[CEC (D) Tudas He i
i To e afe 22 3 UgR UPS duT 69 3 76 Fa © 939 196 |
FF 3 e wienrs fo'y w'adht §
dv 5# IR €T SR FY wE &
| U9 U9 €9 gu T fuwsr
‘ o 3 gt &' 0 F Waren |
a'gg wEet E AotE ®E nodel |
Tafondt ' wEE fuds BE et
TF 2 srE ey ﬁ*@ I8 HY A
L33 B or@et whors few st
HT HE gt @'3% US TErAm
| At UmrEr ur Ut Bt rREtnt
Fenft T dret g wiet 8o Jaet
e fid udt Gav 5o vie vy &
filst it Tagt ‘w G we s
FT 3 o vfenrg w59, i
UF A GreT O 9Fr @ud afowd
: 3w @5 W wExd ity Ted e
Toa ¥ Gzt &ty vt Bud aw |
Tt g¥sdiad, B3 € nigsd 5
me"f & ggdteit T 53 €% a9 A B




B FHT 3 MR T Hiewd [FF agor,

|69 aff‘Te’ <c ¥ Fud¥ (€5 ‘@08 € MaE-

! A T T 0 B t= N

fr\ wE ) (D) wham -“

L0 | e TR A e T

(A BT e Aun s IS

| (C) a9 w8 et (D) =Tt g

S T Hfons fes sael—Ter 3 oo [8F Hiowd o5 e A B 3?7

B (A) e T " (B) fawaEt ]

L Q) =S At mFat RICES ]

|72, | ole 22 W Wions § miBe a0 oR © oA 1K 39 @ OF 7 99 057

(A) 318 | B)3F

L—-—- {6 THES T L (D) o0 - _

|73 | '&Jfanf ‘g g fufE mEt mredr -y m’e Tt fan fenraetes gu few ntenr 17

i TR e T . T(8)HTE &= ] :

T _;' (©) YT @5& ﬁ*ai'%??“i%?mx o (D) HE'S @79g fafanT s _ i

4| T Ot ww fReier O faod o ET“ 4

T A Uiz =g e | (8] T& T fermE L

O esaRine [ iD)uad i

75 arrv*gr few "gat ot nmw §7 ; |

e N (B) TarH i

ol e {D)aws*"a, _________ ] :

76| =& g9 fam €9 9% O I &9 fogr 90 o

- TN Tmar e ,I ;B} UA A AeT 6%

ot s e e

77 e 3 frufont 93 aifas o aow 961 - ]

e ik T - S } . _

o (C) Buga= =%  Uip)SudaT TET adt - |

L 78 | Jo B 1& < fooam w3 @ ‘f“ﬂ"*‘czm  THUE 97 |

| (A uafefamre @ Fam Iiarmz Egoe] o
ek uzg“o‘r LfmeEr T D) geedt % o FramE -

79 | nze 3mm 3 22 wtent Tew feaS wos mat fogaT nifgmm wrase g’

B WomA gers (B @eEs e s gy

; (C1 8T afegr o Goras D) Bugas A9

80 | GBE aB § WA dan BE s wignh At 97

[ (A) Ao arf"‘cf?r ws  T@ees S T T e |

B ) &fas e T T T T oy ast A wt '

T D & gg- ' “ !
! Adt s yiofew &5 ol 18 § T »H TgF -~ FIT TE| )

B A fents g {B) HEG ®Ur '

| T R — e _

82| fRslt mEe weter § wifes qon et el of wag fading maF aE e 57 o

i (A) fardt o [(5) fogat ]

laE T T e
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53 | UwEt I few @4 < wigd 891 o3 957
(A) BT BY (B) AET T
(C) Budas e (D) Budars e &dT
84, é%a*ﬁa»ﬁ§f’e€a€-fnm€€e‘r%mﬁ WifgmH ®81 [&d3 H36 &3 77 Aae I8
(A) FEater-2eft Batat serge (B) F®H €34 T AJT wdl €AS
| (C) g9 T mygt X 9w 295 (0) Budaz A9
55| fousT 3 o maE &Y fd09 Qua® ROl g Aeer 97 B
(A) 9 € AIHE HUEl (B) I 5T & AHUE!
(C) Busas €% | (D) Buds3 FET BT
s Fefomroghi =5 9 7 mae o9 O uSd a9% AT AIOHE PrEmN Sgept € & 9T
i J AaEr J7 |
(A) iftroirud & HOH wie™ (8) Fefonrraet &F HatAa nmAlEasT
(C) THTS WEd® e3eds feg Igemf (D) Busas 79 B
87. ﬁaﬁwgwﬁw%@amaﬁﬂgﬁ%mﬁmaﬁﬁ?
(A) fordt-ra3 Aofed AUs - (B) fafon=3Ha ATUs
(C) Bugaz e (D) Gusaz arEt AJT
88. | U@ H FI-
i g ffoor fedt few purarswe fAfimr w8t --—---—-—- Ravet gEr 91
| (A) Af93 95 (B) W' SIS
. (C) y=H T95 (D) foarm aas
- 80 WWETWS—W@W&?WSE’TWB’?G&%" ]
I (A) fefimi™ &t €5-FeasT (B) Tal HEE<&
' GYEESEDR (D} Bud=s A9 |
BER) STHT YTaTHT B R31E] FH a6l 18 &1 HIHS X941 7
| (A)T3-A < | (B) nret-25 '#_ﬁ
| (C) Bugasz €< (D) Busaz IEt &t |
Read the passage carefully and answer the questions (91-98) that follow by choosing the best
alternative:
[ We must insist that free oratory is only the beginning of free speech; it is not the end, but a
E | means to an and. The end is to find the truth. The practical justification of civil liberty is not that
| the examination of opinion is one of the necessities of man. For experience tells us that itis only
| when freedom of opinion becomes the compulsion to debate that the seed which our
§ forefathers planted has produced its fruit. When that is understood, Freedom will be cherished
! not because it is a vent for our opinions but because it is the surest method of correcting them.
; 'The unexamined life', said Socrates, ' is unfit to be lived by man'. This is the virtue of liberty, and
[' the ground on which we may best justify our belief in it, that it tolerates error in order to serve
the truth. When more men are brought face-to-face with their opponents oh, forced to listen
-and learn and mend their ideas, they cease to be children and savages and begin to live like
civilized men. Then only is freedom a reality when men may voice their opinions because they
must examine their opinions. The only reason for dwelling on all this is that if we are to preserve
democracy we must understand its principles. And the principle which distinguishes it from all
other forms of government is that in a democracy, the opposition not only is tolerated as
constitutional but must be maintained because it is in fact indispensable. The democratic system |
" cannot be operated without effective opposition.
91, How, according to the passage, democracy can be preserved?

(A) By making good leaders (B} By changing principles

(C) By having an effective opposition L{D} With the help of good teachers




92,

Virtue of liberty means

{A) Having a good personality {B) Doing debate

(C) Tolerating errors to serve the truth | (D} Having free will

| When, according to the passage, freedom will become a reality?

T

(A) When men voice and examine their {B) When we have a good government
| opinion

| (C)} When we can do whatever we want | {D) None of the above

94.

The life is unfit to be lived by men.

i (A) Civilized (B} Unexamined

95

| (C}) Liberal | (D) Democratic

__'The end is to find the truth’. What kind of noun is truth’?

(A) Abstract noun {B) Pr—oper noun

(C) Concrete noun | (D) Countable noun

g6.

! identify the word 0pposi e to the meaning of word 'Savage'

A) Barbaric ] (B) Turbuient

| -

.

T

|
|
|
i

{
(C) Civilized (D) Fierce

87

(dentify the word closest in meaning to the word 'vent

(A) Barrier ) T (B) Repress

{C} Conceal . (D} Express feelings

a8,

Which adjective can be fcrmed from the word ‘man’

(A} Men | (B) Women

(C) Manly | (D) Main

Read the passage carefuily and answer the questions (99-106) that foliow by choosing the best
alternative:

The third great defect of ur civilization is that it does not know what to do with its knowledge. |
- Science, as we have seer, has given us powers fit for the gods, yet we use them iike smal! |
| children. For example, we o not know how to manage our machines. Machines were made to
. be man’s servant; yet he has grown so dependent on them that they are in a fair way to become
his masters. Already most men spend most of their lives looking after and waiting upon
machines. And the machines are very stern masters. They must be fed with coal, and given
| petroi to drink, and oil to vash with, and they must be kept at the right temperature. And if they .
do not get their meals when Lhey expect them, they grow sulky and refuse to work, or burst |
with rage, and blow up ard spread ruin and destruction ali around them. So we have to wait f
upon them very attentively and do alf that we can to keep them in good temper. Already we find |
it difficult to work or play without the machines, and a time may come when they will rule us all
together, just as we rule the animals. And this bring me back to the point at which |
asked,' What do we do with all the time which the machines have saved for us, and the new
energy they nave given us?' The answer, | think, is that we should try to become more civilized. |
For the machines themselves, and the power which the machines have given us, are not
civilization but aids to civilizaticn.

g e a1

g9,

What, according to the passage, has given us go&s like powers?

{A) Civilization f (B) Science |

(C) Saints { (D) Magic

100,

How machinss have become our master?

(A) Machines are costly. ] {B) We are ov;_:r_s._ﬂependent on machines

i
(C) Machines demand main-e nance I (D} Machines are hard to manage

e

101.

. Why machines are stern masters?

A) Because they demand care and right amount of fuel. | (B) Because the_y are complicated.

.

{2
| {C) Because they are man-made. 1 (D) None of the above

14 6f 20



102. | What according to the author can be dene with the time which machines have saved for us? __;

f {A) for taking care of machines ] (B) for becoming more civilized : z

! {C) for spending time with friends and family I (D) for going to vacations
| 103. | What wiil happen to machines If they are not looked after welt
' (A} They will grow sulky | {B) Thay will stop working, ]
____ (C) They wili spread destruction all around. | (D) All of the above |
104. | Choose the synonym for the word 'sulky' as used in the passage.
1 (A) Silky o {B) Cheerfu!
! (C) liktempered (D) Amiabie .
205 | Select the opposite of the word 'stern'?
i {A) Serious 1 (B)Genial
{C) Unfriendly (] Grim ]
106, | . "The machines are very stern mastars’,
— In the above sentnnce, what is ‘very'? o . .
N (A)Noup {B) Ad;ea.iwe :
{C) Verb (o (l')) Advarb o
i 107 is the re!ame degree of prominence with which syliables of a word are
.; | pronounced. |
{A) Word accent —— {B) Suffix !
; (C) Prefix | {D) Phonetics __ | ;
108 | Thereare _ cmsoa*ant phonemes in RP { (Received Pronunciation) Engi.s!.
- (Arzr | | (B) 22
' ) (C) 23 | (D) 24 .
109 | On the basis of piﬂce of articuiation, /n/ snund in ‘noise’ is
E, (A) Piosive 3 (R} AHfricate o
{C) Nasal | (D} Lateral |
%,-_ 110. | The goal/s of English fan; ngu«ge fearning at prirnarv level is/are )
J (A) Attainment of  basic proficiency as | {B) Development of ianguage into an instrument for !
.' 15 required in natural language learning | knowledge acquisition |
- (C) Both 1 and 2 (D) None of the above ' ]
|__111 | The body of empirical rules which explain and reguiate the structure of the sentence is
' {A) Grammar o L {B} Phenemes _
a {C) Morphalogy (D) Syliabie
112. | Which of the following is not the value of teaching poetry?
{A) Sublimates emotions N (B} Means of giving aesthetic pleasure
(C) Develops power of imagination (D} It is ronofonous ]
143 jin ... méthod of teaching of grammar, examples are placed before the students who
_f draw their own conclusions. N ]
L_ {A) Deductive } {B) Inductive e
{C) Prescriptive | {D) Descriptive
114. | introductory greeting in a letter is ~ _ 1
» (A) Heading | (B) Salutation L ;
(C) Body of the letter | (D) Subscrigtion ] o
115. | Accordingto Billow, ______is a morale-buiiding and an interest building enterprise for the |
| students. o o L | |
(A} Storyteiling | (B} Dramatization *I

{C} Poetry {D) Remedial teaching

i
|
|




416. | CLTA in pedagogy of English stands for _JI
(A) Communicative language teaching {Bj Communicative iinguistic teaching approach !
l approach ' i S J
| {C) Communicative language teaching {D) Communicative linguistic teaching application
| applicaticn o - . e
f 117 | Find the word nearest in meaning to 'ratiocination’ |
r (A} Woman who owns a business ! {B) Official charges for a crime :=
? (C) Process of thinking and arguing logically ' D) A substance in our body
[ 118. | Find the word oppaosite in meaning to 'Slumber’ o o
! (A} Happy (B) Wake up L
.f (C) Lovable (D) Wait i
. 119, [lboughtit hundred rupees.
| Fill the appropriate preposition in the blank.
| (A)tnto o {B) From L |
f {C) For ‘ (D} Beside L _
| ___120. | What are the qualities of a good classroom speech?
L (A) It should e done at normal speed N | (B} Pauses should be carefully inserted ___i
- | (C) Speakers should make use of proper stress and intonation | (D) All of the above j
_r i27. " ‘Mathematics is a language with which the God wrote the Universe’ is said by/ a3 Qg g '
13 HiF =R yeE & soaiis B sfuby 9 frm oordr ghr g 9 ]
fr (A) G.H hardy/ 71 ’ﬁ“ﬂwm (8) Ramanujan/ IHTEHE B [
| 1 {€) Galileo/ G {D) Bhaskara I/ €THEJ | - {
© 122, | Which of the following is called building biock of Mathematics/ B
| (A) Argurnents/ @Hiet (B) Undefined terms/ »ufeaiz wagt oo
I _____ (C) Natura! Phenomencn/ 32831 @937 | (D} None of these/ fogst i 3¢t 50 j
. 1.2z, | According to NPE-198€, upte what ievel mathernatics should be compulsary for all children in |
indian schools / NPE-1986 ® WEH, I Agst 9 7rg Safyi e arefz o Yug
|37 wnpdt 9 wfer 9 o o
1 {A) Elementary Stage/ ?;Eﬁﬂ?c'ﬁ HoH {2) Secondary Stage/ ﬁﬁ@?ﬂ HeH |
! {C) Senior Secondary Stage/ HiaMa Aelzdt Fen (D) College Stage/ ATHEH HeH L |
| 124. | Following the recommendations of..............on evaluation reforms in school education the
? traditional examinaticns are being replaced with continuous and comprehensive evaluation
! (C.C.E.) schemey........ Etnil HgR) Afkfor g wsige qual dnl Afgant @ smiw: gefed
| it § 639 »3 i yeigE (ol M) v g weshe 3k 9 |
{A) NCF-2000 ~T(B)nEP-1986 R
(C) NCF-2005 (D) NEP-2020 |
125. | Which type of testing helps a teacher to know ‘Why a student is feeling difficuity in learning a

particular concept?’/ &H K ) A wufiuyg g oy wrew afg vwoo qudl Q &f
2feforgt § s iR Hawy F Ave 2fe wigs afg o ad O !

(A) Diagnostic Testing/ gfeganels éﬂafa {B} Knowliedge Testing/ Ao 2wl |

R e T

| (C) skill Testing/ IS SHT] (D} Understanding Testing/ NS oHial |
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Which of following is not a problem in teaching learning of Mathematics/ Ry CIES é‘% EIREL |i
1=tz wiabhns w3 Ay <8 I8 iEk & J |

children/ ETQ? Hafui 2fg gefs ©

Fraferdt

(A) A sense of fear and failure regarding | (B) A curricutum that disappoints both a talented \

Mathematics among @ majority of | minority as well as the non-participating o )
Tl majority at the same time/ fdq urdsdaH A fEal
A0 <fa 39 #2 WASSS 9 IS | seaf=d yIIfHE B TB-6H aﬁa\

ag%@?ﬁémfﬂaa@ﬁ

g9 A g3 g HAsES IEE |
= s € 83Af3 I8T I8 1

as mechanical Computation/ HEFI ) =% IYd T ,

)

(C) Crude ‘methods of assessment that l (D) Enriching teachers with a variety of mathematical .!
encourage perception of mathematics | resources/ muﬁqma'! é FY-2Y arafs ? ﬂﬁ?‘l

|

e

35 iR ah ffg e w5

In the words of David Wheeler, itis “more useful to know how tQ —-=--rm-mmm==me than to knowa |
lot of mathematic, Fill in the blank with one of the following./ ':?Efs CRIPT! {David Wheeler ) 2

et ofg, g3 S 9l § wes a8 feg W T wgefed 3§ T |

|

(A) Solve Problems/ FHAMIET & u% d9d | (B) Use Mathematics/ grafz < =33 el ]

() Rationalize/mﬁaﬁ' 318 j (D) !\ﬁa'rhematize/ETE.‘T%)r EG) |

| As per the NCF{2005), The Mathematics Curriculum

T —
should be coherent in the sense that/ NCF |

(2005) ¥ WA, I3 T UGHIH o wigg efg fedgrmd(coherent) o e 9 & |

rather than the narrower aim/ feg

| @t

(A) It seeks to achieve the higher aim 5 (B) The variety of methods and skills available l
P piecemeal cohere into an ability to address problems
R s €1 € @ Yauz g3 | that come from science and social studies in high
B 1schoo;/@—®é€aﬁmgm@wé€ﬁa@
| A <fg el #i3 T Ui 3

Wﬁﬁﬁméﬁww@‘é ~f

(C) Students feel the need to solve such mxc:_luiems‘,‘r
it FRTARIRT @ I 596 ©
B Hofgn 998

(D) All the Above/ BUIH3 A

Jer di

The ratio of the areas of two similar triangles is equal to ~__of their corresponding sides./ €

s f3gst @ B3IeBT T Maus Gas offl nigrrdt (Corresponding) = oS- ER-GUCE]

(A) the ratio / Wou™2 | (B) square S?fhe ratio/ W_W’?f ° T ]

(C) cube of the ratio/ MU TuE ] (D) none of these/ fogst f28 ot ot

63, find the value of x.

29, 32, 48, 50, %, x+2,72,78,84,95

The following observations have been arranged in ascending order. If the median of the datais |

i
29, 32, 48, 50, x, x+2, 72,78,84,95/ BT of3 siftuet § 9% FoH 9 zferefs i3 ‘]
I 1 Aag 3T & AU (median 163 J 3 T WS B3I |

(A) 60 (8) 61

(C) 62 (D) 63

. | For any two positive integers a and b, HCF(a,b} X LCM(a,b)=/ IR € AT 3HA frga?s

FYPAT (integers)a W2 b T, HCF(a,b) x LCM(a,b)=

(Ayaxb ~_1(Bazb

[ (C) a+b T ip)bsa

-

S



Which of the following rational numbers have terminating decimal expansion?/ shHasiz <

132.
T yafid Hufr@t (rational number)@’rﬂ?:ﬁ?:r (terminating) €HH&< 39 Jer J?
(A) 15/1600 (B) 64/455
(C) 29/343 (D) None of these/ TET&T 2fg et &t

133. | How many silver coins,1.75 cm in diameter and of thickness 2mm,must be melted to

form a cuboid of dimensions 5.5 cm x10cmx3.5 cm?/ 1.75 Ahieg eham w3 2 Highitea
Herdl 2 918 g ® Afaft 8, 5.5 A ied x10 B ea x 3.5 A iea »rara = W (cuboid)

R Bt yfwzh Arer gt 3?
(A) 300 (B) 350
(C) 400 (D) 450 o

134. | Atoyisin the form of a cone of radius 3.5 ¢

| total height of the toy is 15.5 cm. The total

m mounted on a hemisphere of same radius. The

surface area of the toy is......../ ffauf¥arss

Aiea 2 UR R T 5 T HI® T I G W 2 R wIudIB (Hemisphere) B3 HEe
i3 g I uf3d < 35'8@%@ 15.5 AcHIea 9. Hﬁé?@mﬁm (surface area)

(A) 214.5 cm*® (B) 234.5 cm”
(C) 186.5 cm? (D) 96.5 cm?
135. | Which of the following cannot be determined graphically?/ﬁ@?ﬁ%%aﬁﬁﬁmga
'3 Bfgug3s &l 31 7 AT
(A) Mean / HOHTS (8) Median / Hafar
(C) Mode/ §J&5 (D) None of these/ feaai 2fd 381 &t
130. | Which of the following is not a Roman numeral/ feJ&! €9 ATFT IHE W (Roman
| Number) 31T
T XL (B) LX
| () VX (D) XC
137. | Which of the following is correct regarding Bar Graphs/ ¥1d dJ[d'gl € HEg €9 I&T €3
<id gfaz 7 Ir :
| (A) Bars of any width can be drawn vertically I (B} Bars of uniform width can be drawn
with equal spacing between them / G vertically with equal spacing between them/
dadl € wgt § Qust <fuard gogg | fesAg Jand @it wgt § Gawt <fgeg
<f ¥ o8 yIFe s egefam 39 2 Wfobn | §9Hd 2 R A8 uIT / <9efas I 3
A I yfgfr 71 Ferer 3
(C) Bars of uniform width can be drawn 5 (D) Bars of uniform width can be drawn |
vertically with unequal spacing between horizontally or vertically with equal spacing
them/ feamTg T37d dhnft grgi 3 between them/ feaAg IIdt wThwi wgi 3
Quat <foga wims =fg @ % Qusl <fgagd g9gg @ © FI® BT
3T Zacian 33 3 Wfehr 7 Aaw | Jafnes H yge / edefas 39 3 uighy
J I I
138. | The ages of Hari and Harry are in the ratio 5:7. Four years from now the ratio of their ages will
be 3:4. Their present ages are./ Jdl nZ Jgt & QHH 57 % MEUS(ratio) <fg JI d& 3
T AE e Gadh € 81 ¥ wigu3 3.4 Jean| €xat @ g ©v .
(A) 25, 35 (B) 20,28
(C) 15,21 (D) 30,42
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132 | How many daagc:.mais does a convex quadrilateral have/ T8 J&SIH g¥gga e ald
g (diagonals) El‘t"i']c":
(A) 2 N | (B) 1 - B
9o | (D) None of these/ T g %! Aal
140, | If the humber is the square numbpr it has to be sum of / Hog AT HHﬁHT'é'HBF(SOlJaFP
number) 9, ZHfe . @Rz d@adie d
(A) Successive Numbers starting from | (B) Successive Odd Numbers starting from 1/1 3 Hd
|r b 37 I ¥8 BIFY AT | 3= =) a3 Hig 469
l' | (C) Successivz Even Numbers starting from (D) Successive Numbers starting from 0/0 3
| 2/2 3 Hd T T Harzd 7 hifire Ay JF 28 ®IrIg J899 -
. 141. | Observe the éo!iowmg pattarn and find the missi ing digits / Qrey ﬁﬁ'ﬂﬁ?’iﬁé’ab@ dﬁ"ﬁg
| et § #3
' 11%=121
101%:10201
1001210020061
10001°=100020001
10000001 °=.. ,
(A) 100000: 5000001 ’ (B) 100020001 _ _ |
(C) 100000020000001 | (D) 10000000200000001 |
142, | Which of the foilowing is not a perfect cube/ 19I5 214 o= f¥g Hga?;uré {Perfect
cwerdd T
(A) 216 - (B) 1000 - )
1oz (D) 46656 | n
{43, | Kamala borrowed Ks. ?6 400 from = Bank t0 oy a seooter ai arate of 15% p.a. compounded
y¢arlv The arcount she pays atthe end of 2 years and 4 months to clear the ican will be/ TH&T
D 15% .2 F’E&'F'T}f?-iélfg(romp{)und) g Wﬁe{?”HGTGE wiil o ge 3 26,400 JUB B
J T8 GU g 89 0aY 3 FEMIE FIE a2 A 02 4 Hftaivt @ w3 2y wier e
| &, 2 |
| (A}Rs.31,47530  T(B)Rs 3685440 |
| (C) Rs.36,659.70 | (D) Rs. 32,434.90 | |
144 1 (1.5 f%y)"_.?_:*_xi_‘iyw) 45x+12y = | |
i (A) 2.25 x2-16 y° e iB25x-16y
B (C) 2.05 ¥*-16 y* + 6 xy (D) 2.25 x2-16 y* + 16 xy N
i 145, Subtract ap©g - 3pq + 5pq°—8p + 7g — 10 from 18 ~ 3p - 11q + 5pq ~ 29> + 5p°6/4p°q - 3pq +
! 5pg°-8p+ 7 q ;{}?518 3p - 11q + Spg - 20G° +5pq ?W""‘G’
" (A) p a-3pq° +&pq-18q+3p +28 | (B]p” - 7m +5pq - 18 +5p +28
| {C) p°q = 7pq” +8pq — 189 *Sp +28 {D) pa - 7pg° +8pq - 18 +5p +18
146, | The remainder when x° - ax® + 6x — a is divided by x — a/ TR X% - 2x +6x—a g X —a &1 gidl
dramgels Hl(remai inder} I gye 3
Ax7 | (B)3av2 ]
(C) x+2a _ B o _ o {D} 5a i '_ |
i47. | The value of k, if x— 1 is a factor of p(x} = kx® =3+ k/ kBT }j&", Had x— 1 plx) =kx" -3 x+ kT !
| dI<d (factcr}"&i o _
i} EN _M____ TR .
KOEC BCEZS
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[ 148 f Which of the following is not true when a transversal intersects two parallel lines, then each

;gg;f/éar%féeﬁamrﬂtﬁazﬂ ﬁ@ﬁaeamem@mmaméaz@é afg f’
|

.’- (A) Corresponding angles is egual. /ﬁEﬂS’ {B } Alternate interior angles is equal. /*a?eaﬁ
L (Correqpondmg)c??’ TR HJEg ﬁ i ' fw;'a (Alternate) I TP HJHd ?}

I

r

J (C) Inzerior angies on the same side of the HD Interior angles on the same side of thef’
i

i

|

| transversal is equal,/ MW'&* 7y | transversal is supplementary./ E'&"H'@'HHB © 73
IU@@W@"@WW&# R wegR cral T HF
| ﬁy'a?i’(Suppiementary) SR

149. j Which of the fellowing is not a criterion for congruence of triangies?/ U3 €12 €fg JigX

| ige HIHITHH {congruence)SEt }F'IE?S GRIkE

|

|

| 4
rr: MSA‘-* . B [(B) ASA | ' ]
|

|

|

-

L

C) RHS (D) AAA

150. A right trlangf ABL wrti-i sides5¢cm, 12 emand 13 em is revolvpd about the side 12 cm, Then |
J the vo'ume of the solid so obtained i is/ 5 ﬁ?ﬂ'ﬁ"a 12 ﬁa}ﬂ?ﬂ@ 13 ﬁ@{mwmfﬁa i
| HHAE 29 asc: 12 AShies @ g ol whe ) of fom gagi Yguz 337
e L _.f}‘_ ‘
{4) 100m cm® ' {B_) 1207 em®

{C)110mem® | (D) 780m cm®

|
T
|
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